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ME307/MP307 ROHNO. 2 cceveereernrennee
Spl. 2018
INDUSTRIAL ENGINEERING
fufha e . ?I’Fmi] [m FH:70
Time allowed : Three Hours] » [Maximum Marks : 70

e () ¥IHAFE AAEHE 8, 99 5 @l wla & Ik A

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) NP J97 & G YT H FHAR T Gre 5T Biford |
Solve all parts of a question consecutively together.

(iii) FIF ¥ H1 79 8 8 IRF Fitord |
Start each question on fresh page.

(iv) 21 97137 § 3= 817 1 A § 318 srgare a8 1

Only English version is valid in case of difference in both the languages.

1. () wefafeframae ¢
What is dummy activity ?
(i) EfEaTHo ! qHTE |
Explain codification.

(iii) IR Sl g = Bt ] 7

What is consumer’s risk ?

(iv) 2rTergd 3T Sh T P T |

Explain templates and their uses.

(v) THME 9IRS g # argmEd |
Explain principle of unit load. ' (2x5)
(1of4) P.T.O.
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2.

(@)

(i)

@)

(i)

(i)

(1)

(ii)

(i)

(ii)

v wg ... # =R =y Hif )

Differentiate between PERT and CPM.

Toraeefl shaTew Wi 1 W FrafiRga srishel @ wra shifor
3iter anfdes 7 = 60,000 378

T -G GO TG = §hTE hIFd BT 10% iy o

FATRH TR L hl AT = T 280 i AT

mTd Wi FPE =T 8

Calculate economic ordering quantity by following data :
Annual demand = 60,000 unit

Inventory carrying cost =10% per year of unit value

Procurement cost = ¥ 280 per order

Cost per unit=% 8

TS VT S5 I TR |
Explain operating characteristic curve.

FHif¥reh QY (P) T QT Y HEw 7 (C) et <t i wwee |

Explain Fraction defective (P) and Number of defects (C) control charts.

T YRR < ITAT | Tafira i fraeraan & fagr= fafed |
Write principles of motion economy relating to use of human body.
T IETE0 6 TEra & g g wshe = o wweed |

Explain two handed process chart with an example.

3 sh o1 FHEITITE b1 s o 1 gErEa @ ausd |
Explain working of Derrick Crane with neat sketch.

ATt WEka ITRTOTl o TEH I THIf ST 9T eI 1 Ty |

Explain factors affecting selection of material handling equipments.

mmé-mmwﬁamwmm@mﬁﬁ%ﬁw
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- (6+6)

(6+6)

(6+6)

(6+6)

Explain product type layout with an example and write its advantage and

disadvantage.
HATE A-HTH T o FTT S Q) doheieh Y angngd |

Explain two techniques for making plant layout.

(6+6)
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7.

() Ras wfi % qHed vd 36 SyE fafeu |
Explain linear programming and write its application.

(i) T B H TG T 2,40,000 W 1 713 | HH HR Ay 10 T8 A T T T A
% 60,000 3771 1T | Br2d g a9 fafer gr (i) Srereem gt fawm ® e (ii) 3 o
) BT & WG IHTHEIA BUS i T F1d HIT |

A car was purchased for ¥ 2,40,000. Its life was estimated as ten years and scrap
value as ¥ 60,000. Using reducing balance method calculate (i) the depreciation
rate in % and (ii) estimate the depreciation fund at the end of two years. (6+6)

oy 2 ol 1 e i Fooaforat orfa
Write short notes on any three of the following :
(i) ABC foviwm
ABC Analysis
(il) TshY &\l
Process capability
(iii) e gfeaaa
Work sampling
(iv) IATETH |
Obsolescence (4x3)
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